¥R HNZ / Components

No. F R / Part name #=E / Pcs #ME / Material £ - RMEMIE / Color-Finish
1 H— 1 7 JLE#R AT1100P =15 ARG N—FE ) BERERNE
Cover Aluminium A1100P t=1.5 Metallic silver painted / Inside Conductivefinished
2 =Y 1 7 ILSHR A1100P t=1.5 ARV IVIIN—FE / BEBELE
Base Aluminium A1100P t=1.5 Metallic silver painted / Inside Conductivefinished
3 |EfFER (M/NEE M3 x 4) 4 % =ffiyaA—k
Screw (Flat-head M3 - 4) Steel Trivalent chromate
4 Raspberry Pi ER{F FIE R (3 M2.5 x 3) 4 =221 p) —wH LAy
Screw for Board (M2.5 - 3) Brass Nickel plated
5 B LRE 4 =1 3= PN T59%
Rubber feet Rubber Black
6 GIVOF YT AR—H— 4 &% FEERH-E=AM
Clinching standoff Steel Trivalent zinc plated

*3 LR (FEBDSATICBEY T TEE T,

*Adhesive rubber feet in cluded

o

I

o

T

6
3
& E M : Raspberry Pi 4B
Suitable PCB : Raspberry Pi 4B
mn/Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Raspberry Pi E7 L2 —X
Raspberry Pi ALUMINIUM CASE

o]

752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
RPI-4B-1 I
iR 1 H AN 1/ 4
{YER B /Date 2019/11/11




AN

37

2.6

32

BT / Max dim. 19.5

s
|
V
|
|
U
N | N
T |
A |
|
|
|
|
I~ B
(@)
—]
A-A(1:15)
7 S
0 — ok
= =

A% / Max dim. 61

R4.5
R3

O\

B-B(1:15)
© ©
I V/§V
: M @/\@
: /\
%l 5 @/\@
W
%E_ © ©

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Raspberry Pi E7 L2 —X

Raspberry Pi ALUMINIUM CASE

o]

752/ Approved

iR

#%[X/Checked

1% H

#1[X]/Created

A1l

RIE /Product number RE/Scale
RPI-4B-1 1:1.5
fERE/Date  2019/11/11 2/ 4




$H/\— / Cover

451

16

\
\

N/ N/ \NJ \J \J \J \J

\,
™~
\

oY
o

7-2x17 R1
2-2%x 10 R1

11

5/5/5/5/5/5|5

10

37

97

32

—— ]
4-R3
\_ >
S 4 4-R4.5
16 2-2x 10 R1 15 15
2-2x17 R1
11 14 19-R1 14
o 5 00
<,77’> o
1o} , //,\ ~ 12}
\//// < N o
° <z 3 %
C ~ 41 :
7 )
~ i \& &
17 9 11 ~ o 0 S
7 7a\
17 9 11 ~ N\ /4
C . N - ‘r
(o] Tp]
l ™ N o
o ™
N
4-R3 -
o
174 76| 12 9 47 9
4-M3M 7% (/NER)
4-M3 Counter Sunk
0
1a )
———1 ——— m#/Title
‘ TAKACHI| %Xt hFEMIT X

Raspberry Pi E7 L2 —X
Raspberry Pi ALUMINIUM CASE

o]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
RPI-4B-1 I
iR 1 H AN 3/ 4
{YER B /Date 2019/11/11




<¥— / Base

28.5

45

1.5

95

16.3 4.6

7.6

6.7

18.8

153 153 165
r S N«
~
3¢]
© <t
© ©
o~ ™~
3.9 2.7 2.8 4.5
61
7 47 7
\ )
~
(4]
© / \ P
NANE
/ \ o
N
£\ / \ £\
\/J / \J
4-M3 0
~
(ap]
® ®
22 17 22
22 17 22
~
Q. Ris
Lo
=
\_ Y,
92 | 6 458

4-R3

4-M25 D)o F G AR —H—

16 29 16
4-M2.5 Clinching standoff
3, A
o] A4 ~
N /) 8 o~
/ <
|| / 7N\
© < \ ©
o O / N\ >
< 0 \\\ =)
= o / NS o
& \ =
° / <\\:>
& @ 9 <]
= o / <‘\\> o °
' \\\ =)
O
10-2x 17 R1
[lp)
o N
[ap)
A\ A\
& &
o
6 49 6
4/ Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Raspberry Pi E7 L2 —X

Raspberry Pi ALUMINIUM CASE

o]

752/ Approved

iR

#%[X/Checked

#1[X]/Created

1% H Al

RIE /Product number RE/Scale
RPI-4B-1 1:1
fERB/Date  2019/11/11 4/ 4




